

المفاتحة المرقمة SUP 87/2025/80

١- اسم المكتب :- مكتب الطوق العلمي

1 National Code (a)	2 Seller Code (b)	2 Brief Description of Goods		3 Quantity Offered & Physical Unit	4 Country of Origin	5 Price per physical unit (Bidder may permissible Currency)					6 Total Price on DDP/Free Delivery at End- user, site.(US Dollar) 3x5(d)
		Product (a)	Unit Pack Size (b)			CIP price per unit	CIP price per pack (Bidder may insert place of destination) (a)	DDP at End- user, site (b)	Incidental services as defined in schedule of Requirement (c)	DDP at End- user, site & Incidental Series (d) =({b}+{c})	
CRD-RE00-006	HS-30A	Kimadia's Description: Stethoscope Offered Product: Single head aluminium stethoscope	Pc	15177	China	USD 10,52	USD 10,52	N/A	FOC	USD 10,52	USD 159.662,04
CRD-RE24-013	LD-526	Kimadia's Description: Arm type digital blood pressure Offered Product: Fully automatic upper arm model digital blood pressure monitor.	Pc	24529	China	USD 12,84	USD 12,84	N/A	FOC	USD 12,84	USD 314.952,36

Grand Total Bid price: USD 474.614,40 - US Dollars Four Hundred Seventy-Four Thousand Six Hundred Fourteen and Forty Cents Only.

٢- اسم الشركة :- شركة برج الصادق

We are Pleased to Quote on the above subject in the terms here:

National Code	IMB CODE	Kimadia Description	IMB Description	Unit	QTY	Unit Price \$	Total price \$
CRD-RE00-006	IMB-100	Stethoscope سماعات	Single Head Stethoscope Silver single-membrane chestpiece for adult, anodizing chestpiece , the membrane is sensitive for sound collecting. Aluminum alloy chestpiece, good sound conduction. Standard single PVC tube, color is optional	PCS	15177	6	91,062
CRD-RE00-008	IMB-200	Aneroid sphygmomanometer	Aneroid Sphygmomanometer Standard type Special aluminum alloy manometer. Standard nylon/cotton cuff. 2-tube adult size PVC/Latex bladder. Standard PVC/Latex bulb Air-release valve with spring. Standard end valve. Vinyl zipper bag.	PCS	4962	11	54,582
CRD-RE24-013	IMB-808	Arm type digital blood pressure	[OPTION 1] DIGITAL ARM BLOOD PRESSURE MONITOR Orange color backlight Arabic voice 4*AAA Batteries Type C cable Screen size 50.3*60.3mm	PCS	24529	12	294,348
	IMB-811		[OPTION 2] DIGITAL ARM BLOOD PRESSURE Orange color backlight Arabic voice 4*AAA Batteries Type C cable Screen size 63*70mm	PCS	24529	12.5	306,612.5
CRD-RE24-014	IMB-202	Digital thermometer	Digital thermometer	PCS	60812	1.5	91,218
Total Price USD \$ / CIP Baghdad – OPTION 1 Five hundred thirty-one thousand two hundred ten US Dollars only .							531,210
Total Price USD \$ / CIP Baghdad – OPTION 2 Five hundred forty-three thousand four hundred seventy-four US Dollars and five Cent only .							543,474.5

٣- اسم الشركة : شركة GREEN FORREST

#	NC	Product	Unit e	Quantit y	Price/P CS	Total
1	CRD-RE00-006	Stethoscope	PCS	15177	\$13.00	\$197,301.00
2	CRD-RE00-008	Aneroid sphygmomanometer	PCS	4962	\$23.00	\$114,126.00
3	CRD-RS00-001	Amber colour transparent cylindrical suction jars impact resistant autoclavable 2 litres	PCS	233	\$21.00	\$4,893.00
4	CRD-RE24-013	Arm type digital blood pressure	PCS	24529	\$16.00	\$392,464.00
5	CRD-RE24-014	Digital thermometer	PCS	60812	\$2.00	\$121,624.00
		Eight Hundred Thirty Thousands and Four Hundred and Eight USD				\$830,408.00

٤ - اسم الشركة :- شركة القنوان للتجارة العامة

No	National code	ITEM DESCRIPTION	UOM	QTY	Unite Price	Total
1	CRD-RE00-006	Stethoscope	PCS	15177	\$12.60	\$191,230.20
2	CRD-RE00-008	Aneroid sphygmomanometer	PCS	4962	\$21.30	\$105,690.60
3	CRD-RS00-001	Amber colour transparent cylindrical suction jars impact resistant autoclavalbe 2 litres	PCS	233	\$19.00	\$4,427.00
4	CRD-RE24-013	Arm type digital blood pressure	PCS	24529	\$14.27	\$350,028.83
5	CRD-RE24-014	Digital thermometer	PCS	60812	\$1.86	\$113,110.32
		المجموع : فقط سبعمائة و اربعة وستون الف و اربعمائة و ستة و ثمانون دولار و خمسة و تسعون سنت لا غير				\$764,486.95

٥- اسم الشركة :- شركة Quick Lase

1				2		3	4	5				6
Old National code	New National code	Seller code	Item No.	Brief Description of Goods		Quantity offered & physical unit	Country of origin	Price per physical unit				Total Price
				Product	Unit Pack size			CIP price (USD)	DDP at End-user, site	Incidental services as defined in schedule of Requirement	DDP at End-user, site & Incidental Series	
	CRD-RE00-006	QL.CRD3.6	1	Stethoscope	pcs	15,177	U.K.	\$10.93	N/A	N/A	N/A	\$ 165,808.73
	CRD-RE00-008	QL.CRD3.8	2	Aneroid sphygmomanometer	pcs	4,962	U.K.	\$19.26	N/A	N/A	N/A	\$ 95,545.79
Total Amount				(Two Hundred Sixty-One Thousand Three Hundred Fifty-Four Dollars and Fifty-Two Cents)								\$ 261,354.52